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39-Noone............... who calle  sd. the policem do they?
1) knew 2) know
3) knows 4) don’t know
40- A lot of athletes ................... in olympic games.
1) take place 2) take part
3) take apart 4) take off
41- The coffee made here tastesvery .................
1) good 2) badly
3) well 4) sharply
42- Hewarned me.............. the whole cake.
1) swallowed 2) to swallow

3) not to swallow 4) don’t swallow
43- His success in his exams brought his family great ....

1) happily 2) happy
3) happier 4) happiness
A4- HOW ....oveenneee do you go to theater ? “Once a month”
1) long 2) often
3) far 4) much

45- Computers can give you a good whether you are a
beginner or a grand master. “ This centence tells usthat
1) No body can play with computers but the grand masters
2) No body can enjoy the game with computers except the
beginners
3) If you play well, the computer can never win
4) Computers have different levels and can play well
46- Feather islight. but iron isnot. “ligt” isthe opposite of

1) thick 2) heavy

3) dark 4) clear
A7- Mary was................ because she had seen her namein the
newspaper.

1) exciting 2) excitement

3) excited 4) exxite

48- Although | had never been in such hamid attempt weather.
| could easily ................ my self to the condition.

1) compare 2) attract 3) adapt 4) attempt
49- The man was walking through the park. Suddenly he

stopped ............ acigarette, but hedidn’t have a lighter.
1) to smoke 2) smoking
3) smoke 4)smokes

50- Leonardo daVinci couldn’t fly hisflying machine and his
students couldn’t
1) too
3) so

2) neither
4) either

(4i,853) ©luslm
ol o)le (l.\s,; (2S o5 3 42 o S 5l ) JL'.S(}G.;ZA— \
p35 42,8 5l 4 pndls ax A (Y £25 o2 sl dle S (O

P52 (58 OALES 5> adan (¥ £ Sl oEls 4 50 (F
Cogd o sl Lo aedS 5 Ly il (g g QLS 438 plas o= ¥

05l O (Y Shre 0L (Y

<8355 0L (¥ b o5 (F
D51 g IS L bl 318 LS Lo/ S 000 40 i ot K e ¥
93)15 58S glas

5l.\;u5,u°t§;,\)(.*:%j/5uda,1>,ow)ﬁﬁ,:(\
Sl (2355 g o St 5 Sl 2 S0 M5 s S 5 (Y
ol O 48 DI 5 o o il ol Oy et K5 Ogime i (F
pllo3 o 38 ol I T ol sloa,8 LI 531, 515 S (¥
5 aey ol SCs abegfassey g 4y LAY s 3 oy oyl f
) fef @ ey3S pIAS (el
Sl s 25 5 A sl oy ()
Gl oz Ol Y @ el (Y
Gl ol el ol 5 SKis (Y 0 (¥
ol Y 0555 Al Slo)latal el 53 5ol i (F
§ S (g 40dgh (ol (gl (5 0L o —0
sl e (Y
Sllasee s (F
() ar ) )l 5385 comd g o lie 5 P Glo (a5 9 el =7

somnlS ule (Y
Ghzes dzs (T

.Lo__,fda ....... Jﬁi}:ﬁwlq.wh-\.&“}g.&i
iy e (Y 55 ()
JLa (¥ Golw o3l (F

0y LT ks oty 5 o 3L 5oy ab 50l o @il 2880 oy 3 -V
§ sl by LS @ &;quﬂrus

oais (Y 4ls (A

CL@:‘(V el b (7
(Ko 25 3590 5l o 0 iz 4 iy ey b 0leS) oy a5 L —A
§ ] s () (g0l 55 paeie pluS

Gl G 2SS Bl phize (

0355 on o 2S5 53 S Ol el i 5l suile 22851 (Y

S5 Al (F

ol QS o) Hshate g ol 53 (F
cee e (o) sadds -4

0L G, (N

o35 (¥ Lo i (¥
Tl ) 5SS Wsles Oghul) Ly ooy gaen 3 -V

s O p Llaslaslul eu sew L (O

SL s (Y

s 555 o S0 1 O ol s s 3 B8 ) e (Y
s i 45 Wil 1S WKl eb b aS el O 5,0 5 e I (F
B{FPI ANt L </ NCHP R EIP JOA NPT 4 ¢

Sl o3l 4alS 1S (Mol ¢ pnn 4z b=V

Sl 1 age (Y ST gl toage (N
4,808 T Clas (¥ S © il (T

ol gpols slacdlb 9 adl 5 859 ) ol (sl DS pluaS 1 Y
Al maisl Olall Clas (Y Symen Sl 2l (N

5ij¢msauwcl>‘5ujha(f b s ad (7
Sl 0t o)Ll (ke ) ;,lﬁsd»qa;i}frus,;—\\‘
b s 35 25T ol aS a (Y P gt s J L 5 ()

Mﬁb&j})@w‘d}})déﬁ(f Wg}i}'k&)"u‘a‘}'&uﬂ‘(’f’“ (¥

(aidoV+) 2yem
Ugee ol ie (Uiges L2, Y1 Bsd - 1 ¥
J Jymie (Y ’ PcIe
Ji (¥ lhs Jymie (¥

iV B el sl ()
Sy s VI i el 6y (Y
oY oo 1 e (F
QY e gadl LY (F
«@_,L,q;»! OVl ded) aJW 5)Lal) a2 3l e ) a L= VP
Sy oo aral)l OF 5 48 ol oot Ol 25,1 (A
.njfdn Loyl ool > L ol (Y
el o3l 325 5,5 03 0Ll S (F
LS o dedy o) by 0Ll 48 ol (g5 325 ol (¥
S 0 e O I Ll B (D RS b el ol ga L Y

i) Tagd
e (Y Jdus (A
ol ke (¥ o 3l (T

(fguons) ot Lol ) SIS 85 Ldl SCeph &dS e coadl ol pala— VA
Gl 105 Gy > las by s (Y
ol Lze (gl (Y
Gl 1503 4 Jgmie 105 (F
Gl G paaia o (F
DT cladlss o wun:,wng&;{s- 14
¥ (Y ) ()
Y (Y Y (Y
bl 2all G ?yuqugwg¢|y|wy@wlpu—v~
« .. w.’\]!.b!i gr,z;..,dl
Ju (¥ e (3
asb(r J= (¥
:.;,é..;_;:’;ﬂld,» SIS L B (o amia) BalS g0 el g Lo — Y
. «‘..».xfls B o e

b Jymia (Y J (1

han Jyai (F el
oplos I s b placa) SAII 5 Ladl 3 pnmenall oy ol g Lo = YY
(l,\;S‘_;A

odie o laadl s (Y Ul Ty e a4

GV o g ilenadl 05 3L (F Wl 5kl ils (F

S 0lee S s o e JBY TN 8 LN B (0Ll i) - XY

(@EN] ‘_,;U|’4.1J|.\...9
oS bl - e I (Y Ao e (A
Qljo.:«cr.:ja(‘f el (F

S Bl o Sl M o) e () LadS ol o - YF

?«(..Qwi

w3 dsmia(F alliGlas (¥ o Ugaie (Y 4 Usmie (4




